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Question 1.Select the related word/letters/number from the given alternatives.

&3 T fashedt 7 O Gelfeere Yee 3ERT/TEAT F AT

EARTH : PLANET :: MOON : ?

ERE I [ o

Options:

1) SUN

et

2) UNIVERSE

GEC

3) VENUS

iy

4) SATELLITE

ERDIS

Correct Answer: SATELLITE
ERDS

Candidate Answer: SATELLITE

39dg

Question 2.Select the related word/letters/number from the given alternatives.

T3 919 fashed & & Hafetre ere/ 31eRi/HEdT 1 gfv|
EJOT : ::YDIN : VAFK

Options:

1) LQGB

2) BGLQ

3) QBGL

4) BGQL
Correct Answer: BGLQ
Candidate Answer: BGLQ

Question 3.Select the related word/letters/number from the given alternatives.

1S3 T fashedt & O Gelfetre Qee) 3ERT/HEAT 1 Yiv|
100 : 102 : : 100000 : ?

Options:

1) 10°

2) 104

3) 1003

4) 100*
Correct Answer: 10°
Candidate Answer: 10°

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives

e 919 fashedt & & fawa ereey 3reR/dear g7a v
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Options:
1) Temple
AT

2) Worship
g

3) Mosque
A&

4) Church
AReT =

Correct Answer: Worship

areiar

Candidate Answer: Worship
1T

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives

o o Ryt & & e eree/ 3rT/HEdT go | 9T

Options:
1)MNOM

2)BDCB
3)XZYX

4)PRQP
Correct Answer: MNOM
Candidate Answer: MNOM

Question 6.

For the following questions
Find the odd word/letters/number pair from the given alternatives

2 3 fashedtl & & fawa ereey 3raw/dear gon v

Options:
1) 70, 80

2) 54, 62
3) 28, 32

4) 21,24
Correct Answer: 54, 62
Candidate Answer: 21, 24

Question 7.Arrange the following words as per order in the dicitonary

AT QUear T 2eeiT # feT v %A 7 faf@w|
1) Pearl 2) Peasant 3) Pea 4) Peanut

Options:

1)3,1,4,2

2)3,41,2
3)1,3,2,4

4)1,2,3,4
Correct Answer: 3,4, 1, 2
Candidate Answer: 3,4, 1, 2

Question 8.Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

&R T leT-AT FHE WA TATAT U FHAR T F & TS &R AT Pl I 3T ?
gfe_igeii_feigf_ii



Options:
l)ifgie

2)figie
3)eifgi

4)ifige
Correct Answer:ifgie
Candidate Answer:ifgie

Question 9.Which one number when placed at the sign of interrogation shall complete the series

T 770 et 7 & wler-A Fear uee arae fHeg ) @e § AT H g wen -
3,6, 18,72, ..2..., 2160

Options:

1) 144

2) 216
3) 288

4) 360
Correct Answer: 360
Candidate Answer: 360

Question 10.Introducing a lady, a lady said, "She is the only daughter of Mohan's grandfather who is my husband's father". How does the lady relate herself with the introduced
lady?

e AT 1 AT & §U gl AfRer 3 e, b g AN #lget 35 e, S A afdy & Rl &, A gepoltel 981 ¥1 qud e v wgeh & AT Fwwt § 2
Options:

1) Aunt

ardr / 31

2) Mother

AT

3) Mother-in-law

gt

4) Sister-in-law

EIEY

Correct Answer: Sister-in-law

EIEY
Candidate Answer: [ NOT ANSWERED ]

Question 11.Two years ago, Aadhya was three times as old as his son and two years hence, twice her age will be equal to five times that of her son. Find Aadhya's present age.

& HTeT Tgel ST T TG 3= S T Y 1 3 I[A1 2, 30 2 Y 1 SHRN 37T 7 2 T[0T 38eh o9& T Y & 5 I[A & TANA G| AT Y I Y AT HfoIw ?
Options:

1) 38 years

38ay

2) 36 years

36 a¥

3) 34 years

349§

4) 42 years

2%

Correct Answer: 38 years
38ay

Candidate Answer: [ NOT ANSWERED ]

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
frafaf@a fawmedt # & g oee gfAv S T 917 eree & 3eRT T T2 e 6T ST ST Fehel |

ADMINISTRATION

Options:

1) STRAIN

2) TRADITION

3) SITUATION

4) RATION
Correct Answer: SITUATION
Candidate Answer: SITUATION

Question 13.If MOTHER is coded as KMRFCP, then HOUSE is coded as

3f& MOTHER &t KMRFCP for@T ST, dt HOUSE &t &/ forar smear ?



Options:
1) FMRPC

2) GNSQD
3) GNRQD

4) FMSQC
Correct Answer: FMSQC
Candidate Answer: FMSQC

Question 14.If D stands for x, S stands for +, A stands for - and M stands for -+, what is the value of the given expression

IfE D T AT X', S F AT '+, A Ao -, 3R M Ade '+ ' &), aY A T 310 FER0T A AT AT PfFT ?
28D6S34M2A8D6

Options:

1) 558

2) 3312

3) 137

4) 31
Correct Answer: 137
Candidate Answer: 137

Question 15.1f3*¥4 =10,5*8=18,7*7 =7

gfg3*%4=10,5%8=18, &, A 7*7="?

Options:
1) 26

2) 21
3) 28

4) 49
Correct Answer: 21
Candidate Answer: [ NOT ANSWERED ]

Question 16.In the following question, a series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

TAFATRTRICT 5ot 31 Ueh 37afsha e aranm R, TSRy Teh HEaT o &1 18U 910 fashedl & W HET Secik Bieeht 3iefshal i [ Ao |

1 2

wm | w

11 7

120 45

-

Options:
1) 19

2) 16
3)15

4) 17
Correct Answer: 16
Candidate Answer: 16

Question 17.Rahul starts and walks towards the south, he then turns to his right and walks 5 kms, then again turns left and walks 3 kms and then again turns left and walks 5
kms. In which direction is he from the starting point?

TG STAT0T T 3 ST &, Y 379 aT¢ I A3 5 .30, Teielm &, TR aTd 31T 773 3 TR, <refell &, T i & 3% 5T 5 .0, TrefarT 81 YRaimelt foieg & 9 foher feRm a7
?

Options:

1) NORTH

3

2) SOUTH

gfayoT

3) EAST

o

4) WEST

g

Correct Answer: SOUTH
gfavor

Candidate Answer: SOUTH
gfavor



Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements:

a) Odisha is still an underdeveloped state.

b) Problems like poverty, unemployment and illiteracy have not been solved.

Conclusions:

I) The administration of Orissa is not sensitive enough.II) It is the Will of God.

TR weaT 7 U I7 &Y aFdeT Y a1 §, o 31mey & Asas/Aeaan, [ 3R I el = €1 3m9eht AR a1 § T aoFdeT e § 918 98 9Fead: o a2at ¥ f@ee udia
BT 81| 3MTIeR! 0T T § TF RU 91T aoFdey & @ Si-a1 RARaa & A TET sy /Aeardr A hrelr ST aehdT § ?
U :

I) 30ErT 379 o7 U AT e ¥

11) 7Tl ARSTRY, 3R FARERET S T g A g8 B

forseny :

1) 3SR JATET T FaeALNeldT gATed 87 &1

1) Ig $3a) S g=oT 8

Options:

1) Only I follows

el oy 1T ¥

2) Only II follows

el AvHy I T 81

3) Both I and II follow

oS 1 3R 11 et @y &1

4) Neither I and II follows

ST A forsensy 1 68 § o7 € 11 58 &1

Correct Answer: Neither I and II follows

o @Y forsens 1 |eY & o1 &1 11 |8 &

Candidate Answer: Only I follows

Fad Ry I @@ 2

Question 19.How many triangles are there in the following figure?

) o arv o # ey Fepior g 2

i

Rl

Options:
1) 12

2)16
3) 10

4) 20
Correct Answer: 20
Candidate Answer: 16

Question 20.Which illustrates the relationship amongst Judges, thieves and criminals?

Arafad Aeedt 7 & wla-ar R =aramedel, ot 33k 3t & S Tl geaee o il g ?



Options:
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Correct Answer:

Candidate Answer:

)

A
I

I
|

(

)

Question 21.Which answer figure will complete the pattern in the question figure?

FATATd 7 & PleT-Tr Soc-3Mpic T3t & FTATT T R Hl ?

AN

L
it
i
|



Options:

1)
Y
2)
NS
3)
\‘?\\\Q
4)
| -
Correct Answer:
NN
Candidate Answer:
NN

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded?

T 918 3ot ampfaat F & 390 sfa F IFC o ve aefa Rfka &




Options:
1)

2)

I =T |

i T
3

| |
Candidate Answer:
| - |

- \

Question 23.A piece of paper is folded and punched as shown below. From the given responses, indicate how will it appear when open?

Tfe; forelt swmaTer 1 oA fow 21w TeaT & 3[R AISHT 36 O T ST A Wiew & oI5 96 fohel 3T i ferams o ?

~

™

.

T

Lo P |




Options:

1)
2)
3)
[
L TE
4)
Fel
» (@
Correct Answer:
{>
\A A
Candidate Answer:




Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I weh guT I MN XGT 9 IG@T AT T &) 318 Seei} 3mepicrall & & hler-d el geat 3mepfer o1 & e ghaft 2

[T 1

[0 |
|

|
i
|

|
Mo
| |
Options:
1)

FILE

2)

3)

4)

Candidate Answer:




Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are numbered from 5
to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., K can be represented by 00, 24, etc. and A can be represented by 55 etc. You
have to identify the set for the word 'SHIP'

fArATafEd a3t & fashedt R a0 FEar-wegg, 31aRT & & goif garT a=fiv 1w §, 3 f 1 v 970 o) 3meggh & €1 3negg | & aaw1 3R I AT 0 F4 aw S ¢, 3R
HEGE 11 & 58 9 T, 3T 3T U Teh 318 I Tgol ST dfad R 16 7 T HEAT ZaRT GRIT S FehedT § 1 3ET6=0T & oI 'K' & 00, 24 31TTE SR GRIfT ST |ehelT &, T 'A' &1
55 2RI i ST Fehell &1 38 e & IR faw §U 2rsg; 'SHIP' & oI wg 1 Tgaiiatr 81

~ MATRIX - 1 MATRIX - 11

0 1 2 3 4 L -] 7 8 ]
o K G E A S 5 A H U W N
1 P v H R Y B Y R B T v
2 - M . v N R K 7 Q | H B Q
3 W 5 B o J 8 v o] E 1 5
4 ] u A I p ° E T K w P

Options:

1) 31, 56, 43, 10
2) 89, 12, 40, 99
3) 04, 21, 76, 44

4) 89, 56, 34, 11
Correct Answer: 31, 56, 43, 10
Candidate Answer: [ NOT ANSWERED ]

Question 26.Silver gets corroded due to in air.

oy, AT o 1 3uTEARY ¥ FROT WENRA &Y St ¥
Options:

1) Oxygen

Kiczoice

2) Hydrogen Sulphide

STl HoWhIgS

3) Carbon dioxide

FeA 313 3TAEs

4) Nitrogen

AT

Correct Answer: Hydrogen Sulphide
[EEEC RGeS

Candidate Answer: Nitrogen

SIS

Question 27.Which of the following is a radioactive element?

fArAfaf@d # § Fla-ar iR aca & ?
Options:

1) Cobalt

FleTeT

2) Uranium

PUGEE]

3) Argon

3wt

4) Chromium

Eaicpe:

Correct Answer: Uranium

AT

Candidate Answer: Uranium

AT

kN

Question 28.Right to Constitutional Remedies comes under

FITAF 3TART 1 3FTAFR fhash dgd 3rarg ?



Options:

1) Legal rights

FleTell BN

2) Fundamental rights
Hiferwm HEFR

3) Human rights
AT 3fAFR

4) Natural rights
oTepicreh JfarmR
Correct Answer: Fundamental rights
Hiforws AFER

Candidate Answer: Fundamental rights
Hiferr AFER

Question 29.Which of the digestive organs contains acid?

o1 & § forg IraaT-39T H, 3T @ldT & ?
Options:

1) Stomach

HARRT

2) Small intestine

Bokict

3) Appendix

wfrsFa

4) Colon

Eare

Correct Answer: Stomach
AR

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which country is separated from India by a narrow channel of sea formed by the Palk Strait and the Gulf of Mannar.

T STASHAGHALT T HeelR T WTST ST AT 3T G STor1ET o FROT o1 | hlel-HT S AR H 37efd e § 2
Options:

1) Bangladesh

FiTenaer

2) Myanmar

AR

3) Sri Lanka

e

4) Pakistan

BlEXSIC

Correct Answer: Sri Lanka
Eiccol

Candidate Answer: Sri Lanka
At

Question 31.Which of the following fibres is considered as the strongest natural fibre?

FATTET # & leT-T1 X Tl AT TTepfcleh Y2 & T H SI&AT ST & ?
Options:

1) Cotton

FurH

2) Jute

qead

3) Wool

Fel

4) Silk

RH

Correct Answer: Silk
RAH

Candidate Answer: Jute
qead

Question 32.Purpose of an optical filter is to :

TN RheeT T 3T FATE ?



Options:

1) reflect lights of different colours

fafReeT 31 & deprer st Riafda e

2) dispense light into component colours

JRIRT T Teeh I & =T

3) refract light of different colours

Taffeet I & Tehmer A1 19T AT

4) transmit or absorb light of different colours
TafFieT 31T & U=RIRr ST TAROT IT AT el

Correct Answer: transmit or absorb light of different colours
AR 3T & YRIRT T TARTT AT THTALNT AT

Candidate Answer: transmit or absorb light of different colours
TRt TN & TN T TAROT AT TATARAT FAT

Question 33.Which of the following is not a weighted code?

FATal@d # @ Hle7-ar aes #is (1R %) LT & ?
Options:

1) Excess 3 - Code

T 3-35

2) Binary Number System

3) Decimal Number System

SH TEIT JoTelr

4) BCD Number System

&t 9 3 IEaT gomelr

Correct Answer: Excess 3 - Code

TR 3-FHI5

Candidate Answer: [ NOT ANSWERED ]

Question 34.'Residex' is associated with :

LSS I Ty fhad & ?
Options:

1) Share prices

RRT & FAT T

2) Price inflation

HerehfT &

3) Mutual fund prices
FY3Tel B3 T B

4) Land prices

ST fr fAaT A

Correct Answer: Land prices
FHIT HT FHAAT H

Candidate Answer: [ NOT ANSWERED ]

Question 35.0zone saves the biosphere by absorbing high energy radiations called

3T ¥t iRl faTehRuit sht T o STaisel i G Tel Fcll & 3w T g § ?
Options:

1) Infra-red (IR)

- 33

2) Gamma rays

T foRvor

3) Ultraviolet rays (UV)

Jegr-areie fal ()

4) X-rays

T

Correct Answer: Ultraviolet rays (UV)
Hegr-araie faor (Z dn)

Candidate Answer: Ultraviolet rays (UV)
Jregr-arrare faor ()

Question 36.Birju Maharaj is a well known exponent of

T Fewrer o farem & gufeig wfadmes € 2
Options:

1) Manipuri dance

2) Kathak

Hcdh

3) Odissi

anfsdr

4) Kathakali

FUHe



Correct Answer: Kathak
Hcdh

Candidate Answer: [ NOT ANSWERED ]

Question 37.In the absence of the earth's atmosphere, sky would appear

Gt & ARYAUSH T IHafeufr 7 arerer dar gefie g ?
Options:

1) blue

e

2) deep red

TG oflel

3) white

oad

4) black

el

Correct Answer: black
el

Candidate Answer: black
el

Question 38.The First Woman President of the Indian National Congress was

R TSET AT T T2 AfGem 31egeT et of ?
Options:

1) Sarojini Naidu

TS g

2) Vijayalakshmi Pandit

oo orea afsa

3) Annie Besant

T 8T

4) Kadambani Ganguli

HIeESaT el

Correct Answer: Annie Besant
o ST

Candidate Answer: Annie Besant
o ST

Question 39.Which of the following programmes meet the credit needs of poor women?

fFrfaf@d & @ Flor-ar Friwa fovder fomat i 3R smaegshanit H qfd axars ?
Options:

1) Mahila Samriddhi Yojna

Afge Gl Al

2) Rashtriya Mahila Kosh

TSR Al Y

3) Indira Mahila Yojna

et Afger At

4) Mahila Samakhya Programme

AT TAREAT FriwE

Correct Answer: Rashtriya Mahila Kosh
TS FHfge F

Candidate Answer: Mahila Samriddhi Yojna
Afgel T Aot

Question 40.The Comptroller and Auditor-General of India submits his report relating to the accounts of the Union to the

AR % 2 Ud AgTolaT TIeTs ol -siem Feaeti Rule fomaet gegd e § ?
Options:

1) Finance Minister

faea 74

2) Prime Minister

YT FAT

3) President

qsgafa

4) Chief Justice of the Supreme Court

Falfed raTer & HEd Farder

Correct Answer: President
rsgafa

Candidate Answer: Chief Justice of the Supreme Court
Halfea =arTery & &g Fargeer

Question 41.The first Buddhist Council was held at

2 stg TR Fel A g o ?



Options:

1) Kashmir
FHR

2) Rajagriha
i

3) Pataliputra
areforgs

4) Vaisali
gamelr
Correct Answer: Rajagriha
S8

(&
Candidate Answer: Pataliputra
grefoaT

k)

Question 42.Where do the Western and Eastern Ghats meet?

af@esr g vt aet & Ao #gl glar & ?
Options:

1) Nilgiri hills

eIy i werfsat 7

2) Cardamom hills

FISTHA FI TgIEat F

3) Palani hills

ellelT T qgTisar &

4) Annamalai hills

STeeATHS Y ggifsat &F

Correct Answer: Nilgiri hills
Aty Hr ugifzat &

Candidate Answer: Annamalai hills

AT $Y ggifzat &F
Question 43.Who was the founder of the Satvahana Empire?

TAATE THST & AT HloT & ?
Options:

1) Kanha

Flegl

2) Simuka

kisd

3) Hala

gel

4) Gautamiputra

CICE e

]
Correct Answer: Simuka

R

-]
Candidate Answer: Simuka

R

)

Question 44.Indian National Congress split for the first time in its session at

AR TSGR I 1 U [A3TetT 38 el & T 3 g3 ?
Options:

1) Allahabad

ERIQEICY

2) Calcutta

hefehedl

3) Surat

W[Wa

4) Lahore

RN

Correct Answer: Surat
W

&)

Candidate Answer: Calcutta
Felshedl

Question 45.Silica gel is a

R s Far g ?



Options:

1) moisturizer

T SE

2) flavouring agent

GarHhRT ded

3) drying agent

@ are qery

4) delicious food

w1fgse HisteT

Correct Answer: drying agent
@ areT geret

Candidate Answer: [ NOT ANSWERED ]

Question 46.Which Superfast train has AC Coach having Braille Signals?

T ARhIEE TEIST o T ST Seall 3 sief FaTaTell hr giaem & ?
Options:

1) Purushottam Express

GEIc# TFauH

2) Shramjeevi Express

HASAET TFAIH

3) Himgiri Express

AR vraow

4) Purva Express

T T

Correct Answer: Purushottam Express
TENIecTa Traue

Candidate Answer: [ NOT ANSWERED ]

Question 47.Biofertilizers convert nitrogen to

T 3R ARt i AFATAIET F T vy aRafda a=a & ?
Options:

1) nitrates

AEeet H

2) ammonia

AT H

3) nitrogenase

GIEIE Gk

4) amino acids

A TR A

Correct Answer: ammonia
ST 7

Candidate Answer: ammonia

Kiipe

Question 48.Shiva Thapa is associated with which of the following sports?

RAET UTT T T SN A T AT T E ?
Options:

1) Boxing

SifEaT

2) Golf

Elireeol

3) Shooting

e

4) Badminton

SsfesT

Correct Answer: Boxing

ClEz:CI

Candidate Answer: Boxing

ElEz:C

Question 49.The natural habitat of Rhinoceros in India is

R 3 372 o Irpfae o g ¥ ?
Options:

1) Bharatpur

SEN

2) Gir forest

AR gt

3) Khaziranga

FHISI

4) Nilgiris

Arafafi



Correct Answer: Khaziranga
Eisic)

Candidate Answer: Bharatpur
AT

2

Question 50.Which country recently voted to leave the European Union (EU)?

gTel & 3 Ry qer o AT e § 37681 gt 7 foroter fovar 2
Options:

1) Greece

pis:)

2) Spain

e

3) United Kingdom

TSRS fFersH

4) Germany

ST

Correct Answer: United Kingdom
Feies s

Candidate Answer: United Kingdom
Feies s

Question 51.36 men together can build a wall 140 m long in 21 days ; the number of men working at the same rate required to build the same wall in 14 days is

36 3TTeHT fAerRT 140 &, Tl §ar 21 et 7 57 Tha &, IS 98 SaR 14 T & 380 30 & 5118 S &) af fohde 3Rt i amaegeshar gef ?
Options:

Correct Answer: 54
Candidate Answer: 54

Question 52.The perimeters of a square and a rectangle are equal . If their area be 'A’ m? and 'B' m? then correct statement is

T a7 3 3 A IR SRR ¥ 7 37 eyawher ‘A #1.2 31 ‘B #1.2 @1 oY T8 U FATE ?
Options:

1)A<B

2)A<B

3)A>B

4)A2B

Correct Answer: A > B

Candidate Answer: A > B

Question 53.A man bought a watch for 10% discount.If he had bought for 20% discount he would have got the watch for (1 125 less . The marked price of the watch is

Ty safor o Tk EET 10% T g X @ IS 95 38 20% i ge 9 @liedr at 38 gy 1) 125 FH 7 e 63 1 3ifrd Jea adse ?

Options:
1) 00 2500
2) (11250
3) 11 3750
4) (1 1000
Correct Answer: (1 1250

Candidate Answer: [ NOT ANSWERED ]

Question 54.The compound ratio of the inverse ratios of the ratios x : yz , y : zx, z : xy is :

X:1YZ,Y:2X, 2 Xy AT & e ATl T FHH 3TeTdreT qargd ?
Options:

1)1:xyz

2)xyz: 1

3)1:1

4)x:yz

Correct Answer: xyz : 1

Candidate Answer: 1: 1

Question 55.By selling a tape - recorder for (1 1040 a man gains 4% . If he sells if for [1 950, his loss will be

T SIRIE & 0 1040 F IT1 IR TS SATFT Y 4% T 19T 8IaT &1 I a8 39 0 950 & 92 Y 3 fovasr wfrera gifer gisfr ?
Options:

1) 5%

2) 4%

3) 4.5%

4) 9%

Correct Answer: 5%

Candidate Answer: 5%



Question 56.What will be the percentage of increase in the area of a square when each of the its sides is increased by 10% ?

e el et o Jedeh 311 T 10% dal fedm ST ot 38 avawhel # fhetel yfaierd &1 gie gl ?

Options:

1) 20

2) 11

3) 121

4) 21

Correct Answer: 21
Candidate Answer: 21

Question 57.Every Sunday , Gin jogs3 miles . For the rest of the week , each day he jogs1 mile more than the previous day . How many miles Gin jogs in 2 weeks ?

IS AR Y 5 3 Hed ST AT &1 Tearg F AV ST 7 a8 g3 T o & i 3dew 1 e 31 ST T &1 9a1BT 2 JearE F 5 raa Hier : Sifder f=arg ?
Options:

1) 42

2)63

3) 84

4) 98
Correct Answer: 84
Candidate Answer: 84

Question 58.1f p3 - q3 = (p-q) {(p + q )% - xp q } then the value of x is

R p - =(p-a){(p+q)2-xpqleaAxFATFME?
Options:
1)1

2)-1

4) -2
Correct Answer: 1
Candidate Answer: 1

Question 59.

On simplification the value of 1 — 2 2

1+ \-'i_l_ 1—+2

is

mﬁf?mawﬁw1—ﬁ+ L & A & g ?
2

1—+Z

Options:
1)2v2-1

2)1-2V2
3)1-v2

4)-2v2
Correct Answer: 1 - 2v2
Candidate Answer: 1 - V2

Question 60.A rectangle with one side of length 4 cm is inscribed in a circle of diameter 5 cm . Find area of the rectangle

T 3T forgehr U oot 4 A, Sl €, U 5 A, S ATl godd A 3R §1 3T #i7 arhel w1 AfSie ?
Options:

1) 21 cm?

21 .2

2) 12 cm?

1232

3) 4cm?

492

4)3cm?

392

Correct Answer: 12 cm?

1232

Candidate Answer: [ NOT ANSWERED ]

Question 61.ABCD is a cyclic trapezium with AD || BC . If zA = 105° , then other three angles are

ABCD U ThrT THcie ( ciiforaar ) § s AD || BC €1 I £A = 105° g1 dY 37 cfief ahloT T glar?



Options:
1) 2B =75°, «.C =75°, «D = 105°

2) 1B =105°,2C=75°, «.D =75°
3) 2B =75°, 2C =105°, 2D = 75°

4) B =105°, .C =105°, 2D = 75°
Correct Answer: £B =75°, .C =75°, «D = 105°
Candidate Answer: 2B = 75°, .C = 105°, 2D = 75°

Question 62.If sec 156 = cosec 156 (0° < 6 < 10°) then value of 6 is

Ife sec 156 = cosec 150 (0° < 6 < 10°) & dY 6 T HT FAT§?

Options:
1)9°

2) 5°
3)8°

4) 3°
Correct Answer: 3°
Candidate Answer: [ NOT ANSWERED ]

Question 63.

1 1

If x = (0.25)3 y=(0.4)%, 2=(0.216) 5, then

TG x = (0.25);, y=(0.4)2, z={0.216) : grar

Options:
1)Y>X>Z

2)x>y>z
3)Z>X>Y

AHX>Z>Y
Correct Answer: Z > X > Y
Candidate Answer: [ NOT ANSWERED ]

Question 64.Average runs scored by 11 players of a cricket team is 23 runs . If the first player scored 113 runs . Find the average runs of the remaining players

11 HET 1 T fohehe O o AT 23 T 90| IS gl @Sl o 113 3T FA10 &1 dl 37 [@elfsdl & 3Hrad W A1 RIS ?
Options:

1) 8 runs

8%

2) 12 runs

123

3) 14 runs

14T

4) 27 runs

27 T

Correct Answer: 14 runs
14 3T

Candidate Answer: [ NOT ANSWERED ]

Question 65.

X ¥y Z
If a® = by +cz bf=cz + ax,c? = ax + by, then thevalueof —— i

+ +——is
a+x bty c+z

x ; z
s oy

W A TR 7
a+x b+y c+4:z

TR 2 =by+enbl =cztoxcd =ox + by Al

Options:
1)1

2)a+b+c

3)
2. 0,4
a b €
4)0
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]



Question 66.

If x2+y?=29 and xy=10, where x>0,y>0,x>y then the value of g is

x+y

e x2+y2=29 3 xy=10, FTETx=0,y>0, x>y ST HIeT AT hITaTr ?

x-y

Options:
1) -7/3

2)7/3
3)3/7

4) -3/7
Correct Answer: 7/3
Candidate Answer: 7/3

Question 67.The ratio of circumradius and radius of an equilateral triangle is

ferel wrag TegsT & IRaret 3R Swehr Prear & o areparel gom?

Options:
1) 1:2

2)3:1
3)2:1

4)1:3
Correct Answer: 2:1
Candidate Answer: 1:3

Question 68.AB is a diameter of the circle with centre O, CD is chord of the circle , If zBOC = 120° , then the value of ADC is

AB T8 g T =T § foreaT heg; O §1 et &7 Sftar CD § | & 2BOC = 120° 87 df 2ADC &7 #ief F § ?

Options:
1) 42°

2) 30°
3) 60°

4) 35°
Correct Answer: 30°
Candidate Answer: [ NOT ANSWERED ]

Question 69.A straight tree breaks due to storm and the broken part bends so that the top of the tree touches the ground making an angle of 30° with the ground . The distance
from the foot of the tree to the point , where the top touches the ground is 10 m. Find the total height of the tree?

Tk FT I3 B Y TTE W ZE ST & A Z2T HIT $H ThR $[H ST & 6 T B M #7197 371 T 30° T IO ATl GU S{fH bl T4 el ohaTcll 1 95 & ool & 3 g b 1 g
STET S $17aT 813 AT TS AT B, 10 . ¥ U5 A ool S AT RS ?

Options:
1) 10V3 m

2)
1043
3 m

3)10(V3+1)m

4)10(V3-1)m
Correct Answer: 10vV3 m
Candidate Answer: [ NOT ANSWERED ]

Question 70.The compound interest on a certain sum for 2 yearsat 10% per annum isRs. 525 . The simple interest on the same sum for double the time at half the rate percent
per annum is :

Ty TR UX 10 % AT T &7 ¥ 2 A &1 Thg g saTe Rs. 525 &1 38 TR R oI FA & Tl a1f¥ies &3 wfcrerd 3mel gle 9X AeRoT sarer fehciatr giam 2

Options:
1) Rs.520

2) Rs.550
3) Rs. 500

4) Rs. 515
Correct Answer: Rs. 500
Candidate Answer: [ NOT ANSWERED ]

Question 71.If tan 8 = tan 30° . tan 60° and 6 is an acute angle , then 26 is equal to

IfE tan 6 = tan 30° .tan 60° 3iIX 6 Teh =T HIVT § &Y 20 HT AT FATE ?



Options:
1) 30°

2) 45°
3) 90°

4) 0°
Correct Answer: 90°
Candidate Answer: 90°

Question 72.Study the following Bar graph and answer the question . The Bar Graph gives the annual rates of inflation in percentages for 1975 and 1987.

el aR-am &7 et it 3R SRl #7 3eak &I IR-T F 9§ 1975 F 1987 e wferd 7 Aar-whfa A affs R afra A a5 |

40 T

Year 1975

m Year 1987

25
21.7

10.3

Developed nations Third world USA UK

From 1975 to 1987, inflation rate increased in the third world countries approximately by

a¥ 1975 F 1987 3 e cirerdy gfeva et 3 agpr TR 1 & 3 T et 3y 85 2
Options:

1) 10%

2) 20%

3) 30%

4) 36%

Correct Answer: 36%

Candidate Answer: 36%

L J



Question 73.Study the following Bar graph and answer the question . The Bar Graph gives the annual rates of inflation in percentages for 1975 and 1987.

Al SR-am &7 3rearre i 3R el 7 3ea¥ &1 aR-a F 9§ 1975 § 1987 ae wfaed 7 Fu-whfa & s R afaea AF a5 |

a0 T

Year 1975

m Year 1987

35 T

30 T
26.6

25 7
PLis AP

20 T

10.3

World Developed nations Third world USA UK

The change in rate of inflation was least in which of the following .

FETERITT & TREcTeT T foAe=Tel#T & 3T 7 & Tl &Y 2
Options:

1) Developed Nations
T geff &

2) UK

g, &

3) World

[CECEK:N

4) Third world

el g A

Correct Answer: World
[CECE:

Candidate Answer: World
g &

v



Question 74.Study the following Bar graph and answer the question . The Bar Graph gives the annual rates of inflation in percentages for 1975 and 1987.

Tl SR-am &7 3rearre i 3R el 7 3eat &1 aR-a F 9 1975 § 1987 a0 wfaed 7 Fu-whfa & e xafaea AF a5 |

a0 T
36.2
[
35 T ;‘%f Year 1975
.h’, ;-
o i ':pg
: 1 h‘.)‘ie».-t.i Year 1987
1 [t
30 ‘1-_ N
26.6
25 1
20 T
16
15T 146 _13'?
N
103 'ﬁﬁ
; Ay
1 ]
10 %'c:]
S
R T
e
= I 5.2
5 Lﬁ; :
4]

Developed nations Third world USA UK

Comparing the figures for USA vis-a-vis the developed nations , it can be concluded that

TRt SRt & rersT T JoiaT HgaF ol 3R & 3TTehal & Fel TR AG forsehs Toentelr o1 FerctT & TR

Options:
1) USA had better control on inflation
Y T ARG 7 Tl TR T g Fa0r o7 |

2) Developed nations had better control on inflation

T @ <Rl 7 HeT TR TR IgeR Tergeor a1
3) The inflation rate

continues to be the same for USA and developed nations
T o 3RE IR s faa it o Jar whfr ot o S S @ g

4) No conclusions can be
drawn
S AT A€ fAhrem 51T TohaT &

Correct Answer: USA had better control on inflation
TG T ARG T Hel TR I S fedzdeor 2 |

Candidate Answer: [ NOT ANSWERED ]



Question 75.Study the following Bar graph and answer the question . The Bar Graph gives the annual rates of inflation in percentages for 1975 and 1987.
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Developed nations Third world USA UK

In the year 1987, the inflation rate in the third world countries vis-a-vis the world jumped approximately by

¥ 1987 3 frea Fr o 3 ey gfera 3 &1t ¥ FEr SRR 1 ax ¥ FaTeTeT Rt weee g% ?
Options:

1) 135%

2) 126%

3) 122%

4) 200%

Correct Answer: 126%

Candidate Answer: 135%

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button corresponding to it.

RECTIFY

Options:

1) SATISFY

2) CORRECT

3) REDUCE

4) PACIFY

Correct Answer: CORRECT

Candidate Answer: PACIFY

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding to it.

VANQUISH

Options:

1) VANISH

2) VARNISH

3) SURRENDER

4) TRAMPLE

Correct Answer: SURRENDER

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Groteasque

2) Grotasque

3) Growtesque

4) Grotesque

Correct Answer: Grotesque

Candidate Answer: Groteasque



Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If
the sentence is free from error, click the "No error" option.

Here is something pretty (A) / that you can (B) / wear on the party (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If
the sentence is free from error, click the "No error" option.

He was for all (A) / selling the car (B)/ and buying a bicycle (C) /No Error(D)
Options:

1A

2)B

3)C

4) D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If
the sentence is free from error, click the "No error" option.

Look at what (A) / I am doing (B) / and do like I do (C) / No Error (D)
Options:

1)A

2)B

3)C

4) D

Correct Answer: C

Candidate Answer: D

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the
correct alternative and click the button corresponding to it.

See me tomorrow without
Options:

1) fails

2) failure

3) fail

4) failing

Correct Answer: fail
Candidate Answer: fail

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the
correct alternative and click the button corresponding to it.

Radium rays that blind the eyes.
Options:

1) gives away

2) gives over

3) gives up

4) gives off

Correct Answer: gives off

Candidate Answer: gives over

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the
correct alternative and click the button corresponding to it.

You will have to work you are in the office.
Options:

1) as long as

2) as good as

3) as far as

4) so far as

Correct Answer: as long as

Candidate Answer: as long as

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click
the button corresponding to it.

To add fuel to the fire

Options:

1) Prevent fire from dying out

2) Make the fire burn brightly

3) Make things worse

4) Waste fuel for no reason.

Correct Answer: Make things worse

Candidate Answer: Make things worse



Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click
the button corresponding to it.

To take to heart

Options:

1) To be greatly affected

2) To take something heartily

3) To strike at the heart, out of enjoyment
4) To suffer from heart disease

Correct Answer: To be greatly affected

Candidate Answer: To take something heartily

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click
the button corresponding to it.

To bring to light

Options:

1) To put on light

2) To reveal

3) To bring a light

4) To arrange light sufficiently
Correct Answer: To reveal

Candidate Answer: To bring a light

Question 88.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Lying in my room, the music could be heard
Options:

1) I could hear the music

2) The music can be heard

3) The music can be heard by me

4) No improvement

Correct Answer: I could hear the music

Candidate Answer: The music can be heard by me

Question 89.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Come quickly if_you will catch the train
Options:

1) you want to

2) you shall

3) you could

4) No improvement

Correct Answer: you want to

Candidate Answer: you want to

Question 90.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

At the sound of foot steps he turned round fast really
Options:

1) real fast

2) real fastly

3) real faster

4) No improvement

Correct Answer: real fast

Candidate Answer: real fast

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Only a few people came to the art exhibition as it was raining hard all day.
Options:

1) few

2) little

3) a small amount of

4) No improvement

Correct Answer: No improvement

Candidate Answer: few

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

His immediate ambition was to find a place to live in.
Options:

1) Strategy

2) Design

3) Aim

4) No improvement

Correct Answer: Aim

Candidate Answer: Aim




Question 93.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A large body of people playing various musical instruments.
Options:

1) Melody

2) Harmony

3) Elocution

4) Orchestra

Correct Answer: Orchestra

Candidate Answer: Orchestra

Question 94.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Solemn religious acts
Options:

1) Demonstrations

2) Celebrations

3) Rites

4) Functions

Correct Answer: Rites

Candidate Answer: Rites

Question 95.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

That which cannot be averted
Options:

1) Inevitable

2) Irreparable

3) Incomparable

4) Indisputable

Correct Answer: Inevitable
Candidate Answer: Inevitable

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

What is the effect of fear on humans?
Options:

1) We understand life's great mystery.

2) We are not able to develop our intelligence.
3) We think freely.

4) We see the vast expanse of life.

Correct Answer: We are not able to develop our intelligence.
Candidate Answer: We are not able to develop our intelligence.

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

The aim of education is to make us realise the need of
Options:

1) understanding science

2) freedom

3) jobs

4) passing examinations

Correct Answer: freedom

Candidate Answer: freedom



Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

When we are young we should

Options:

1) seek the meaning of life

2) study and get a degree

3) try for a good job

4) study science

Correct Answer: seek the meaning of life

Candidate Answer: seek the meaning of life

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

Education helps us realize the
Options:

1) way to develop our career
2) need for good health

3) meaning of fear

4) necessity of freedom

Correct Answer: necessity of freedom
Candidate Answer: way to develop our career

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

The passage is about

Options:

1) Education

2) Freedom

3) Intelligence

4) Livelihood

Correct Answer: Education
Candidate Answer: Intelligence



